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 Mark the correct answer on your Scantron sheet for each of the following.

1. Your FBLA chapter has been invited to attend a national conference in Washington D.C.  Each member must raise $1,150.00 to go. Jenny is able to save $25/week from her babysitting job. How many weeks must she save to raise enough money for the national conference in Washington D.C.?  B     BM5  

a. 52 weeks    b. 46 weeks    c. 41 weeks    d. 36 weeks

Questions 2–4. Use the following information to help calculate the answers.
Tim and Mary Jones budget 27% of their annual income of $85,300 for food, 38% for housing including operating expenses and furnishings, 9% for transportation, 7% for clothing, 12% for savings, and the remainder for emergencies and miscellaneous.

2. How much do Tim and Mary budget monthly for food?  B     BM10  

a. $23,031.00     b. $  1,919.25    c. $  2,303.10    d. $19,192.50

3. What is the total amount Tim and Mary budget for one year for their housing?  A      BM12  

a. $32,414.00     b. $  2,701.17    c. $27,011.67    d. $34,214.00

4. What percent of the Jones’ budget is for emergencies and miscellaneous?  B     BM11

a. 5%     b. 7%    c. 9%     d. 11%

5. Jason is hired as a new teacher on a 10-month contract for $28,950. If he receives monthly checks, what is his monthly gross pay?  D    BM6  

a. $2,895.00     b. $2,859.00    c. $2,421.50    d. $2,412.50

6. An employee is paid 1-1/2 times the regular rate for overtime work. The regular rate is $12.75 per hour. What is the employee’s overtime rate?  A     BM19  

a. $19.13     b. $18.86    c. $17.52    d. $13.75

7. What is 18 + -26?  A   BM34  

a. –8     b. 8     c. 44    d. -44

8. A 25 lb. bag of dog food cost $9.25. What is the unit price per pound?  A     DC4  

a. $0.37     b. $0.34     c. $0.35     d. $3.70

Questions 9-10. Using the following information, find the correct answers.  
Elaine Jackson purchased 2 sweaters at $24.99 each, a belt for $14.49, slacks for $19.79, shoes for $54.49, and 5 pairs of socks for $3.99 a pair.  

9. How much did Elaine spend before sales tax was added?  A     DC8  

a. $158.70     b. $133.71     c. $144.21    d. $142.74

10. Assuming Elaine’s sales tax is 6-3/4%, what was Elaine’s total cost?    D     PC1  

a. $152.37    b. $153.94     c. $142.74     d. $169.41

11. Mary Jones worked 44 hours last week earning an hourly rate of $17.25. What is Mary’s gross pay for the week?B     DC9 They work a 40-hour week and anything over is considered time and a half.

a. $759.00    b. $793.50     c. $690.00     d. $739.50

12. Gerald bought a 25-foot roll of wire. After using 2/3 of the roll of wire, how many feet of wire are left unused?  D     FR7  

a. 16 2/3     b.   9 1/3     c. 15 2/3    d.   8 1/3

13. Richard purchased 15 7/8 yards of carpet off of a roll holding 25 yards. How much carpet is left on the roll to sell to another customer?  C     FR9  

a. 10 1/8 yards     b.   5 7/8 yards      c.   9 1/8 yards     d.   8 3/4 yards

14. Phyllis paid $22.3293 in sales tax on an item costing $318.99. What sales tax percentage did Phyllis pay?  D     PC4  

a. 14.28%      b.  .1428%      c.  .07%      d. 7.0%

15. $285 is what percentage of $2,375?  A     PC5  

a. 12%     b.  .12%     c.   8.33%      d. 83.3%

16. The markdown on a television that normally sold for $569 was $85.35. What was the markdown rate on the television?    C     PC10  

a.   1.5%     b.   6.67%     c. 15%     d. 66.70%

17. John received $20 for his birthday. He decided to donate 3/5 of his money to the American Cancer Society. What was John’s donation?  

a. $17.00     b. $12.00     c. $  9.00     d. $  7.00

18. Find the net change in a stock if it opened at 69 7/8 and closed at 62 3/4.  C     FR11  

a. 7 5/8 points loss     b. 7 1/8 points gain     c. 7 1/8 points loss     d. 7 5/8 points gain

Questions 19-21. Using the information given in the table, find the correct answers.  Round your answer to the nearest cent.
	List Price
	Trade Discount Rate
	Trade Discount
	Net Price

	$150.00
	20%
	$30.00
	Answer #19

	Answer #20
	25%
	$160.65
	$481.95

	$213.74
	Answer #21
	$17.10
	$196.64


19. Compute the net price using the information in the table above.    B      TD1  

a. $130.00     b. $120.00     c. $180.00     d. $170.00

20. Compute the list price using information in the table above.  A     TD2  

a. $642.60     b. $602.44     c. $624.60     d. $321.30

21. Compute the trade discount rate using information in the table above.  B     TD3  

a.   8.7%     b.   8.0%      c.   9.2%     d. 12.5%

22. Kathy earns $2,580 a month. She has chosen to save 1/3 of her income this year. How much money will Kathy be saving each month?  B     FR8  

a. $   816.00     b. $   860.00     c. $   806.00     d. $1,720.00

23. George and Leona traveled 665.4 miles on a trip using 40.3 gallons of fuel. What was George and Leona’s gas mileage on this trip?  D     DC3  

a. 15.6 miles per gallon     b. 21.5 miles per gallon     c. 26.6 miles per gallon     d. 16.5 miles per gallon

24. Change 27/50 to a decimal.  D     DC5  

a.   0.45     b.   5.40    c.   5.04      d.   0.54

25. What is 8.0765% as a decimal?  C     DC6  

a. .80765     b. .0080765      c. .080765      d. 807.65

26. A sightseeing bus to the mountains cost $3.50 for the first hour or any part of an hour. Each additional hour or part of an hour will cost $1.75. What will be the total cost for a 5 1/2 hour bus tour?  D      BM22  

a. $10.75     b. $11.25     c. $11.75     d. $12.25

27. Donald owns 10 shares of ABC stock that pays a 43 1/2 cent per share dividend each quarter. What are the total dividends earned in one year?  B     BM23  

a. $    4.35     b. $  17.40     c. $  43.50     d. $174.00

28. Jeanette was paid $8.72 an hour and 1 1/2 times that rate for overtime. 7.65% FICA tax is withheld from her paycheck. Calculate her net pay for 47 hours of work. A regular work week is 40 hours.  B     BM25

a. $440.36     b. $406.67     c. $378.49      d. $409.84

29. Debbie received her monthly bank statement for her checking account. The bank reports an ending balance of $598.45, which includes the bank’s monthly charge of $8.50.  There are four outstanding checks: #13–781 for $24.68; #23–788 for $123.98; #21–349 for $8.32, and #43–214 for $52.91. Debbie’s checkbook shows a balance of $397.06. What is Debbie’s adjusted checkbook balance?  D     BM30  

a. $397.06      b. $187.17    c. $195.67     d. $388.56

30. What is 13 1/3 – (-5 3/4)? C     BM34

a. 8 ¼     b. 19     c. 19 1/12      d. 7 5/12

31. Find the sum of 6, -8, 11, -3, and 4.  D     BM1  

a. -10       b. 14      c. -26     d. 10

32. Which of the following 4 numbers is the largest: 3/8, .0375, 2/5, or .25? C     BM3  

a. 3/8     b. .0375      c. 2/5     d. .25

33. Mr. Brown can buy a digital camera for the cash price of $299.99 or pay the installment price of $25 down and $21.09 a month for 15 months. How much can he save by paying cash for the camera?  B     BM4  

a. $25.95      b. $41.36     c. $16.36     d. $  8.64

34. There are 24 boys and 21 girls playing basketball this year. What is the ratio of boys to girls?  C     BM15  

a. 2/3     b. 3/2      c. 8/7     d. 7/8

35. Find the volume of a rectangular solid that has a length of 7 feet, a width of 3 feet, and a depth of 4 feet.  A     BM  

a. 84 feet    b. 25 feet     c. 28 feet     d. 48 feet

36. Wallpapering a room required 8 rolls of wallpaper at $17.99 a roll. Sales tax was 6 1/4%.  What was the total cost of the wallpaper rounded to the nearest cent?  D    BM17  

a. $134.92     b. $  89.95     c. $143.92      d. $152.92

37. You are working on a project that requires 17 yards of fabric. How many inches of fabric will you be purchasing?  C     BM7  

a. 51 inches     b. 85 inches     c. 612 inches    d. 621 inches

38. Vickie answered 28 questions correctly and missed 12 questions. What percent of the questions did Vickie not answer correctly?  D      BM18  

a. 75%    b. 70%     c. 25%    d. 30%  

39. 2565 centimeters is equal to how many meters?  C     BM8  

a. 2.565    b. 256.5     c. 25.65      d. .2565

40. Trent Dillon was comparing prices for frozen turkeys. A 3 lb. turkey was priced at $4.92, 5 lb. turkey was priced at $7.95, 7 lb. turkey at $10.50, and 9 lb. turkey at $13.77. Which turkey is the best buy?  C     DC10  

a. 3 lb. turkey    b. 5 lb. turkey     c. 7 lb. turkey    d. 9 lb. turkey

41.  Arrange 4.98, 4.908, 4.098, and 4.9 in order with the smallest number first.  a     DC11  

a. 4.098, 4.9, 4.908, 4.98      b. 4.98, 4.908, 4.9, 4.098     c. 4.9, 4.908, 4.98, 4.098    d. 4.098, 4.98, 4.098, 4.9

42. What is the sum of 4/5 and 2/3?  D      FR1  

a. 8/15    b. 2 3/15     c. 3/4      d. 1 7/15 

43. Find the decimal for 9.1%.  B     PC3  

a. .0091     b.  .091    c. 91.0     d. .910

44. The Denver Ski Shop is selling a pair of ski boots at 22% below its regular price of $260.  How much does the buyer pay for the boots?  A     PC6  

a. $202.80    b. $  57.20      c. $254.28      d. $238.00

45. Find 422% of 782.  A     PC8  

a. 3,300.04     b.  330.04     c. 33.0004     d.    185.31

46. 5/8 pound of cheese costs $1.59.  What is the cost of one pound of cheese?  D     BM14  

a. $2.45     b. $0.88     c. $0.99     d. $2.54

47. The Smith’s flew from Orlando, Florida to Los Angeles, California. Mr. and Mrs. Smith paid $510 each, their two teenage sons paid $470 each, and their baby daughter’s ticket cost $150. What is the average price per person?  A         BM

a. $422.00     b. $431.00     c. $328.00     d. $226.00

48. How many 1/4 pound hamburgers can be made from 5 3/4 pounds of meat?  C    BM  

a. 18 hamburgers     b. 21 hamburgers     c. 23 hamburgers     d. 25 hamburgers

49. Find the net change in a stock if it opened at 59 3/8 and closed at 61 1/4.  B     BM9  

a. 2 3/8 points loss     b. 1 7/8 points gain     c. 2 3/8 points gain       d. 1 7/8 points loss

50. The Sony Company sold a digital camera at a wholesale price of $210. The XYZ Department store uses a 15% markup. What is the retail price of the camera?  C     PC7  

a. $  31.50    b. $178.50     c. $241.50     d. $231.50
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	NO.
	ANSWER
	NO.
	ANSWER
	NO.
	ANSWER
	NO.
	ANSWER

	1. 
	B
	26. 
	D
	51. 
	A
	76. 
	B

	2. 
	B
	27. 
	C
	52. 
	D
	77. 
	A

	3. 
	A
	28. 
	D
	53. 
	C
	78. 
	D

	4. 
	B
	29. 
	A
	54. 
	B
	79. 
	D

	5. 
	D
	30. 
	C
	55. 
	D
	80. 
	A

	6. 
	A
	31. 
	C
	56. 
	A
	81. 
	D

	7. 
	C
	32. 
	A
	57. 
	D
	82. 
	A

	8. 
	A
	33. 
	D
	58. 
	D
	83. 
	C

	9. 
	D
	34. 
	C
	59. 
	C
	84. 
	D

	10. 
	D
	35. 
	B
	60. 
	B
	85. 
	C

	11. 
	B
	36. 
	B
	61. 
	C
	86. 
	A

	12. 
	C
	37. 
	A
	62. 
	C
	87. 
	D

	13. 
	B
	38. 
	B
	63. 
	B
	88. 
	A

	14. 
	D
	39. 
	B
	64. 
	C
	89. 
	C

	15. 
	D
	40. 
	C
	65. 
	A
	90. 
	B

	16. 
	A
	41. 
	B
	66. 
	C
	91. 
	C

	17. 
	B
	42. 
	D
	67. 
	A
	92. 
	D

	18. 
	C
	43. 
	B
	68. 
	D
	93. 
	B

	19. 
	A
	44. 
	A
	69. 
	C
	94. 
	A

	20. 
	A
	45. 
	B
	70. 
	D
	95. 
	C

	21. 
	D
	46. 
	D
	71. 
	C
	96. 
	B

	22. 
	B
	47. 
	C
	72. 
	C
	97. 
	B

	23. 
	B
	48. 
	D
	73. 
	A
	98. 
	C

	24. 
	C
	49. 
	B
	74. 
	D
	99. 
	D

	25. 
	A
	50. 
	B
	75. 
	D
	100. 
	A


